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Ist Year / Common
Subject : Applied Mathematics - |
Time : 3 Hrs. M.M. : 100
SECTION-A
Note:Very Short Answer type questions. Attempt any
15 parts. (15x2=30)
Q.1 a) Find conjugate and modulus of complex
numberz=5-3i.
b) Express the complex number 1— in
standard form. 3-4i
c) Evaluatelog,3125.
d) Evaluate “C,and™P,.
e) How manyterms are there in the expansion
of [(x-5y)°T".
f)  Write the definition of square matrix with
one example.
g) Evaluate A= ‘3 9
1 6
h) Express 240° inradians.
i) Convert the product 2 sin5 6 cos 0 into sum
or difference of sines and cosines.
j)  Findthe slope oftheline.
3x-5y+7=0
k) Findthe slope forthe points (2,7) & (1, -8).
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Find centre and radius of the circle.
x*+y*-4x+6y+3=0
Find whether the pair of lines.
2x-y+7=0 & 2x+y-9=0
are intersecting, parallel or coincident.

Find the values of a, b, ¢ and d from the
equation.

[a-b Za+c] _ [-1 5]
2a-b 3c+d 0 13
Find the transpose of matrix
1 2 4
A= [3 5 7]
8 3 2

Express Sin 76 - Sin 20 as product.

Find the equation of straight line passing
through (3, -4) parallel to x - axis.

Expresslog,256 =4 in exponential form.

SECTION-B

Note:Short answer type questions. Attempt any ten

parts 10x4=40

i)
i)

ii)

iv)

Find the modulus and argument of complex
number z=1+iV3.

Prove that
14 22
log % + log—3— log 15 = log 7
If (n+2)!=60[(n-1)!1Find n.

Find the 4th term from beginning in the
expansion of (x+ %) .
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v) Ifxbe numerically so small that its cube and
higher powers may be neglected, then find
the binomial expansion for (1 + 2x)3

vi) If A= {2 -1] show that

-1 2
A*-4A+31=0
vii) Evaluate the determinant by laplace
1 7 3
2 -1 4
3 4 2

expansion method.

viii) Classify the following systems of equations
as consistent or inconsistent using
Cramer's Rule.

2x-y=5
x+y=4
ix) Find the degree measures corresponding
to radian measure of (—)C

=4 - i
x) IfSinA= 5&CosB 13

where 0<A, B < 5 Find the value of Cos (A+ B)

xi) Find the acute angle between the lines
whose slopesare 3 & %

xii) Find the equation of the circle drawn on the
line joining the points (-1, 2) and (4, -3) as a
diameter.

xiii) A tower stand vertically on the ground.
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From a point on the ground, 20m away from
the foot of the tower, the angle of elevation
of the top of the tower is 60°. What is the
height of the tower?

Sin 7x + Sin 3x
Cos 7x +cos 3x

xv) Find the equation of the straight line that
passes through the point (3, 4) and
perpendiculartotheline

3x+2y+5=0

xiv) Prove that =tan5x

SECTION-C

Note:Long answer type questions. Attempt any three
guestions. 3x10=30

Q.3 Findthe term mdependent of x in the expansion of
3x° — é)

Q.4 ProvethatSin10°Sin30°Sin50 Sin70° = '1_6

Q.5 Express the matrix A as the sum of symmetric
and skew symmetric matrix, where

-3 4 2
A= |:2 1 6}
8 4 3
Q.6 Find the equation of the circle passing through
the points (1,2); (3,-4) and (5,-6)
Q.7 Findthe square rootofthe

z=7-24:
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e)
f)
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1

(15x2=30)
fafsm v z = 5 - 3i %1 ST 3T AT 1 Y|

Wﬂﬁﬁ@lﬁmmmﬁml
-4

HeATHA FIAT :- 109,3125
i sifse- “C, 3R P,
[(x-5y)T & yaR B R g |
TR STTE T FILTHT ST Ffed S |
AT HIfSTT- 39
A= |1 6
240° 1 gz | F1ehTed |
2 sin5 O cos O & Uik Tl |E qAT HIEEA &
ST TS SIS T o5 |
3x -5y + 7 = 0 L&l I FIUI1 ol AL |
(2,7) 3R (1,-8) fargali & foru yaomar Ama =L |
X +y -4x+6y+3=0
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39 g4 1 = e &5 9 Hifag |
m) fr=fafea et & Sier & ar # fefag &
I St &, THIA & A1 Ueh GO TR Ferdl € |
2x-y+7=0 3R 2x+y-9=0
n) frAfafea afemda, b, ¢ T d 1 HH A FH |
[a-b Za+c]= [-—1 5]
2a-b 3c+d 0 13
0) fr=fafea stege 1 afted I wifaT |
[1 2 4}
A= | 3 5 7
8 3 2
p) Sin70 - Sin 20 1 Tl H WS |
q) U Gieft e o1 geieer ey Sife x 31 &
HHIR A (3, -4) HEFCEA 6 |
r) 109,256 = 4 & TRIURTYE €Y H 95T |

T -°
e : - oTe] ST U9 fohedl S8 Wi sh ST RS- 10x4=40
.2 i) fufwagemz=1+3 A AR FE
HIFT |
i) fag =ifsg
log % + Iog% - log % = log7
i) afe (n+2)! = 60[(n-1)!]] & n FAHITTC
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iv) (x+ %)gﬁﬁwnﬁ%mﬁﬁmvaﬁwﬁm

v) (1+2x)s =1 fgug famr femifere, Safer x gamn
BT 8 fh x 1 T 91 39 ST 15 SIS S
HFdIR |

vi) s [2 -1},?ﬁ?«'¥1’f§QA2-4A+3I=O

-1 2
vii) @rerg faear fafy gra f=fafea afos =
AR IS -
1 7 3
2 -1 4
3 4 2
viii) X W 1 9E Y gu Fefatea aeen &
frerra sn1 enfiepa &1 o & v & = STET
2x-y=9
x+y=4

) (5)° o Y mma = fegft wma & fepred |

X) zrﬁ:‘.Sin/-\zg33th33|3= % ¥

STef 0< A, B < % g @ COS (A+B) 1 9H Ad
|

xi) @ fome @ 3 iR L & 57 e = s w
IBEAISI

Xii) I %1 gHtR fepifere o T s g9 s a ©
FEAfag (-1,2) 3R (4,-3) & FHeM WML |
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Xiii) T HHR HeM W Teead Tl § a9 U fawg | 20
o T T 3 HAR & W | HHR & SR & 97§
oG T 60° T HTT AT T | HIFAR T S a1E F1d L |

xiv) FeAIa &L _Sin 7x + Sin 3x

Cos 7x + cos 3x

XV) Teh Hielt 3@ o1 iR fHeptfere siife fomg (3, 4)

YA TAA T 3x+2y+5=0 THH A=A |

HOT -1

=tanbx

;-3 Iwa T fRel 9 ueE & SW -

93

9.4

9.5

9.6

9.7

(18220) (8)

3x10=30

= few U e & famr # x & foer aen ue
femfae) 10

(sz- ig)

2x

firg =TT Sin 10° Sin 30° Sin 50 Sin 70° = 11%

3TE A hl THIHA a1 e GHfHd 3TgE & ITHd
&Y H e IS STalfeh

-3 4 2
A= | 2 1 6
8 4 3

T 1 o1 FHR fehrfere siifsr frefafed fagsti &
TR E(1,2); (3,-4) 3R (5,-6)
z2=7-24; FEHATA R |
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